Worksheet 24

1. 


Evaluate where C is the line from to . 












2. 


Evaluate where C is the line from  to .












3. 
Compute where 














4. 

Evaluate  using  














5. 
If  is conservative, find the potential:
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6. 
If  is conservative, find the potential: 
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r1 = 1,2
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 C1 :
r (t) = 2 + t, 4t,5t , 0 ≤ t ≤1 C2 :



r (t) = 3,4,−5t , −1≤ t ≤ 0
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  F x, y, z( ) = x,x + y,x + y + z( ),C : r t( ) = sin t,cos t,sin t + cos t( ),0 ≤ t ≤ 2π
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  F x, y( ) = xsin y, ysin x( )
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  F x, y( ) = x + y,x − y( )










 

 

F x

,

y

( )

=

x

+

y

,

x

-

y

( )


oleObject12.bin

image1.emf



 



xy
13
ds



C
∫










 

xy

13

ds

C



ò


oleObject1.bin

image2.emf



r0 = 1,2










r

0

=

1,2


oleObject2.bin


Worksheet 24

1. Evlatef 2 where C s rom 1120 17551

2 Bk s wher Cis el o .3 10 7012

3 Compte | vt whre

PR SR ——




